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HEN (SHERZRES R RH) Ok HER (Z5EENZ2ES RN E) Xk
I
ab—|a| |b|c0s9 prb |b| pr]% |a| BEmmEr) | b=/ o 4 Jilal: AT E N
Xy Yy 2
= 0K 2T ATy Gl R A bR AR SR AR D S
M EMEK: |axb|=|al-|b|-sinb
a-a=lal Zx2=6
a-b=b-a GZHMEFD axb =~(bxa)
N N - > > o> o x y z
/I'b b=0cLt=-L="1
albsab=0sxx,+yy,+2z2,=0 alrb < ax <:>x2 v, z,
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- - - -

. . ST b
> cos 0 = _}ab ’ prjga=|a|-cos9:a—
b

lal-1b] |b]

» claHclbec=axh
- - 1 » -
> Plab NALAM =M S, = E' axb|

> SORJUTE S : Bha~b MBI AT IR S = ax b |

> (axb)-c hEAPA RN S 0 WHAERR: (axb)-c = (bxc)-a=(cxa)-b .
4 T

(1)~ Ax+By+Cz+D=0= kA& n=(4,8,C)
(2) EERTF: A(x—x,)+B(y—y,)+C(z—z,) =0 = T HM (xo,yo,zo)ﬂlimin (4,B,C)

3 cHrrEl: Ax+By+Cz+D, =0, “Fll: 4,x+B,y+C,z+D, =0

ERTETAT Wojn, = 2= B _Co, AvmmpEgy - 12-Dal
4, B, C, N4>+ B+ C?

EPCPEEL, Wa, Ln, = non,=0=> Ad,+BB,+CC,=0:

N B A B D
LIPS, Weos @ = |2 ;. APFHE A, W-—L=—t=—l=—1
g - AZ BZ C2 D2
[ ny |y |
5.H4k
Ax+By+Cz+D,=0=n=(4,B,C,)
y R — =yl s = nx,

“Ax+By+CztD,=0=n, = (4,,B,,C,) —
(SR — B B ORRHE SR % x=0 #15 y, z Bly=1, i3 x, 2%

(2) e x_pxo = y:nyo = Z_nZO SﬂzﬁMo(xmyOaZo)ﬂjjﬁﬁis :(p:mon)

(3) ZHAFE HTRAEA, 2HARTESET O WHELAEA (x, + pt,y, +mt, z, +nt)
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(“)Eg%]ﬂ’x_x1 e ’E%J%Lz’x_xz =1 h 5 (Mle :(xZ_xlvyz_ylozz_Zl))

P m, n )2 m, n,

e L, - e m n
ERHETAT, Ws /s, ==
p, my m

- - -> -

HWEZER, Ws Ls,=s5,=0= pp, +mm,+nn,=0;

FPELHA, W cos @ = |52
|55,

(8,%5,)- MM,

81 X8,

ER AR, W (s, xs,) MM, #0, SLREHHELIEJ =

6. EL S THM% R CaEg L0 =YV _Z7%  w. A4 By+Cz4+D=0

p m n

HHLSTVHTT: Wnls=>ns=0=pAd+mB+nC=0;

A TR, Was =D =",
A B C
FHLSFEML, Wsing = |~
nl s

BEEAGETHE E, W Ls B G,z R TFHTE .

7.0 M, (x,y,.z) B LIt YT 275 g, Ax+By+Cz+D=0
p m n
M M xs
BB d = s 4 = A Bn Gt D]
s \/AZ+BZ+C2

8 PR . Gl HARR PP E &S

Ax+By+Cz+D =0

HZL: - o
{A2X+ B,y+C,z+ D, =0 M THHIT S

Ax+By+Cz+D, +A(Ax+B,y+C,z+D,)=0; Hh AN ERFHEH
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SRERTEAR

0 e . AN
LiE@ity, ASS o © MRS, AERTE RS RAE
2,507 SR (VEER R ) S R ) PR AT R
3R, S A I, EEELL A X I, A0 AX IO, AELGCTRLL dx, %0095 I
2z, thim (24x) dx
A HAER DTS T +¢
S LB, FEiERRRBER G R B, RS TR A, R
e BBk
6. E R HEf s . B K (e=x0) . BEAILIF(xOMPIAL).  £51 40 (x0,y0) 1) 5 i
7800 F sinl. In2, e RS, T 40t WEckS, 89k o RS
FIRTRR HE R o A TER P RS ) s
BBl A, A EE T bk
OB T A B TG, FrREEaE I ] TRV, b, H62 8 EUE BIWG S SO
10 B R R A ASELRS CAfT y YT 2 AT v SR ISR AU v L SRRy e
EEL R H L
11, Gk S M dockS, FBPERS, SR DBy 4 BARIER SR ERE
6 6 B Akl B P2 5L, AR PR 0T O
12 B8RS, ST oA EYE, AR TIEEERLL dx/dt
139 EEef B Sy, or B LN 8 (A ), LA 7 TR B A AR
14,47 0T 26 1 () ML, SRS VRV B A AN U
15, 55 a i) Bk 5] 7 (i) (oA )00 e 21 @ (i) el e LM o A ST A W T O A
16. Y5 a.b HEalE LAY LB o) AT 50 T 1)
17 BB PEAE FF I B 230, o B ESE B BETaY . a0 A AT A SR T R R,
R A0, WY T
18 F5AE R A0 R T, G R ) P A L o R TR I R A A, W A B ab
TR LR HE, B ) e A U R T U A . AR
19 7 ERFL o ST 4 A BRI R T o ol 0 BT R B ol
20 0% S 1) A= 0 T T SR R AN R Ty o el T S b e SRR
21 R G e B s A A 1 R B R B I SN o o A e B A Al £ e L
MMz, A~S B Bk 2 £
22 REESARMARRIN , #5BHME, & 78— ke A B el B IR T PR A, A A T
Jie BB FO RN BU R, AR A
23 4 FE e S ROCIEER BN R R BT AN T T AR AR e, AN HLRRY R

24,40 17 (x) = |/ (x)|

25 P Ay AR e A B A B R R, Rt AR AR RSO PR
1) 55§

ABRE—2, EWFERERNONIE, FIFEEIRE/LX, AEFRENANHSN,
A AR T 3y i e
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